PBI HEIGHT SAFETY

PRODUCT SPECIFICATION

SAYFA
RAPTOR
Rope Access Davit Arm

The Sayfa Raptor Rope Access
Davit Arm is designed as a
cantilevered anchorage device.
Used over balustrades, parapets
and curtain walls for rope access
work where workers are required
to maintain building facades

and equipment mounted on the
external face of a structure.

The Sayfa Raptor Rope Access
Davit Arm is an engineered single
person device, designed to
withstand a 12kN rope access
load or safe working load of
400kg. The Raptor Rope Access
Davit Arm mostly connects to
the primary structure of the
building which includes, wall
mount, floor, mount and concrete
cast-in options, depending on
the structure available and the
intended use of the system.

HOW IT IS USED

The Raptor Rope Access Davit
Arm is used where there is a
need to project an abseil rope
out over the edge of a building
without impacting the facade,
parapet or possibly a glass
balustrade. Davit mounts are
permanently fixed in place
during construction and the
Davit Arm is moved into position
when required.

pbi

EIGHT SAFETY

HOW IT WORKS

The Sayfa Raptor Rope Access
Davit Arm is an engineered
single person device, designed
to withstand a 12kN rope
access load or safe working
load of 400kg. The Sayfa
Raptor Rope Access Davit Arm
mostly connects to the primary
structure of the building which
includes, wall mount, floor mount
and concrete cast-in options,
depending on the structure
available and the intended use
of the system. Its designed as
a cantilevered anchorage device
over balustrades, parapets and
curtain walls for rope access
work where workers are required
to maintain building facades
and equipment mounted on the
external face of a structure.

The Davit Base is permanently
mounted to the structure
whilst the Davit Arm unit is
relocated from base to base to
access different sections of the
structure or facade.

Y N

B werorY 70 AcCESS DAVI 8

el

PBI HEIGHT SAFETY LIMITED 0800 357 003

pbiheightsafety.com



PBI HEIGHT SAFETY

PERFORMANCE

The Raptor Rope Access Davit Arm is designed to conform with
requirements of the Australian & New Zealand Standards AS/NZS
5532:2013 AS/NZS/15022846, AS/NZS51891 and relevant codes
of practices and guidelines.

INSTALLATION

Installation should be carried out by a manufacturer trained
technician who is familier with the parameters of fall arrest and
abseil systems.

MAINTENANCE

Inspection and certification required every 12 months by
competent person in accordance with manufacturer’s specifications
and requirements of Australian/ NZ Standards AS/NZS 1891 and
AS/NZS 5532.

WARRANTY

Valid for 3 Years from date of purchase subject to correct
installation. Use and maintenance to be in accordance with
manufacturer’s specifications and recommendations. This
excludes worn parts.

Failure to supply and/or install proprietary product in accordance
with above standards and codes, specifications and instructions
voids complete system certification and/or warranty.

ENVIRONMENTAL

The SAYFA Group conducts its operations in an environmentally
responsible manner in accordance with relevant legislative
requirements and associated standards. SAYFA business
operations are committed to eliminate our local impacts and

equally realise our responsibilities towards the environment, as
part of our social licence to operate.

We are committed to sourcing the products and materials from
ethical sources.

The SAYFA Group ensures, so far is reasonably practicable that
all products are being sourced are obtained in a responsible and
sustainable way.

This includes understanding the environmental responsibility of
those companies which are suppliers to SAYFA Group.

The SAYFA Group designs flat pack solutions that use the products
to be shipped as the packing structure and therefore significantly
eliminating the need for packaging materials.

Actively pursuing renewable energy sources.

The SAYFA Group has installed a commercial solar panel system
that now provides the majority of electricity for our operations.

Classification and appropriate disposal of generated waste.

Training and awareness programs are conducted to educate the
team on how to dispose of generated waste into appropriate bins
based on classification.

Continual environmental improvement with a focus on fuel and
energy efficiency.

Striving to continually improve our environmental performance
through review, research and development, and consultation with
interested parties.

Prototypes are developed using 3D printer to reduce the waste
during research process.

The SAYFA Group looks for opportunities to where current
products can be used interchangeably or incorporated into other
new designs to reduce the amount of material used for new or
upgraded products.

Apply innovative sustainable approaches to create new designs.

The SAYFA Group meets legal, regulatory and environmental
requirements by maintaining certifications / accreditation to:

Quality Management System ISO 9001:2015.
The SAYFA GROUP achieves continual improvement by:

Establishing, monitoring, communicating, and reviewing company
environmental objectives to exceed company expectations.

Reviewing environmental legislation, regulations and other relevant
material and implementing measures to ensure compliance.

Promoting environmental awareness to all levels of the
organisation and providing employees with appropriate training.

Actively working to minimise pollution and manage waste streams.

The SAYFA Group is proud of the environmentally conscious
approach applied to its operations and we continuously look to
improve this through innovative and environmentally friendly
equipment and techniques.

PBI HEIGHT SAFETY LIMITED 0800 357 003

pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Davit Arm 1000mm reach, 1600mm height

oole

W N

APTOR 107 ACCE65 Y 4]

PoYBUD

umesq

JoquINN BumeIq

weloid

Joquiny 1efosg
NOILIOSIQ

1HOBH WWoo9L
‘HOV3Y WWo00L
WV LIAVQ 30LdVY

paywi Aeses JybieH I9d

uosIneY

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Davit Arm 1400mm reach, 1600mm height

oorl

0091
00ST
==

1sloid

powsLD

umeiq

JoquINN BumeIq

Joquiny wefoid
NOILIOSIQ

1HOBH WWoo9L
‘HOVIY WwoorL
WV LIAVQ 30LdVY

paywi Aeses JybieH I9d

uosIneY

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Davit Arm 1000mm reach, 2200mm height

9Ll
061

00ce
=———000L
g

.5
0ole

¥ N —
pamroels <ot acczss o o

p—

PoYBUD

umeiq

JoquINN BumeIq

weloid

Joquiny 1efosg
NOILIOSIQ

paywi Aeses JybieH I9d
IHOEH WWio0ze
HOV3y w000l

WYV LIAVA ¥OLdVY

uosIneY

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Davit Arm 1400mm reach, 2200mm height

00,41

00cz

7=\
[APTORY ROFE ACCZSSDAV™ 3 @
j\ ="

NV =
00SZ
—

PoYBUD

umesq

JoquINN BumeIq

weloid

Joquiny 1efosg
NOILIOSIQ

1HOBH Wwooze
HOV3Y Wwwiooy |

paywi Aeses JybieH I9d

WYV LIAVA ¥OLdVY

uosIneY

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Rope Access Davit Arm Fixing

T

——=Hf

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Rope Access Davit Arm Base

r

L

@18 THRU

82
178 I
9]
m
M
alg
o]
Nz
“|®
ss}
)
]
10
™
H
N
10

200

224 NB125 Sch 40 Pipe

UHL A3ddV.1 9N

OL.+8ZL@

(44

ooe
SLE

oL

(@A T4

oL

(@A) 1114

.=
0 iZ[5
m ga’rq
(@) 5 2
a2 5¢
2|0 5%
i =4 e
= P E
O 3
o
g
o
g
5
I} o o v sl o o o N <}
g 8 HE H
212 z
HE g
R
) gl |28
m §§
PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY

TECHNICAL DRAWING - SAYFA Raptor Rope Access Davit Arm Steel Base

oy
oy

40

133LS SSTTINIVLS TIVIYILVYIN

10€
18¢

381
10
_
N
z
4 -
) N
o
_
2
>
L Pyl
LU

paYIRD
umesg
equiny Bumesq
osfoig
saquiny psfosg
)
oo Aejesiubiauad
prep————

paywi A9jes JybleH |19d

uosney

GLILLIGZ | TW | simuco o oseq

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



PBI HEIGHT SAFETY %

TECHNICAL DRAWING - SAYFA Raptor Rope Access Cast-in Base

550 / PLINTH

380 / DAVIT BASE PLATE

380 / DAVIT BASE PLATE

550 / PLINTH

> ~ > TOP OF DAVIT BASE LEVEL WITH PLINTH
—_ UNDER MEMBRANE
PLINTH REINFORCING BY OTHERS

R10 (TYP)

D12 (TYP) FULLY EMBEDDED IN
CONCRETE

BENDING SCHEDULE AND REINFORCING BY OTHERS

150

TBC

NEW PLINTH (30mpa MIN) FOR CAST IN DAVIT BASE.
TOP OF PLINTH TO BE LEVEL AND UNDER
MEMBRANE OVERLAY

PBI CAST IN DAVIT BASE

GALVANISED
\‘ CERAMIC FLOOR TILES
v

)\ngm_»)Zm OVER

SCREED

EXISTING CONCRETE SLAB

M20 REID THREADED INSERTS (TIM)

Rev Description By | Dpate

A |rrstissie ML [30/01/2021

PBI Height Safety Limited

Place, PO Box 39048,
), Harewood,

rch 8053, Christchurch 8454,
New Zealand New Zealand

ne: 0800 357 003

phiheightsafety.com
Project:

Description

Davit Base Plinth Detail

Project Number
Client:

Drawing Number. Revision

®

Drawn:
Checked

Date: Scale:

NTS@A3

pbiheightsafety.com

0800 357 003

PBI HEIGHT SAFETY LIMITED



PBI HEIGHT SAFETY

TECHNICAL DRAWING - SAYFA Raptor Rope Access Davit Base Plinth Detail

550 / PLINTH

385 / DAVIT BASE PLATE VOID

305/ HOLE CRS

4 x M20 S/S THREADED
RODS SET INTO CONCRETE
TO BE TRIMMED BACK FOR
M20 DOME NUTS

302 /HOLE CRS
385 / DAVIT BASE PLATE VOID
550 / PLINTH

VOID FOR DAVIT BASE PLATE

PLINTH REINFORCING BY OTHERS

TO BE TRIMMED BACK FOR
M20 DOME NUTS ONTOP

LTI T T IO TT

R10 (TYP) A
D12 (TYP) FULLY EMBEDDED IN v
CONCRETE

40

>/
v CERAMIC FLOOR TILES

NURAPLY INSULATED ROOF SYSTEM|
NURATHERM INSULATION

100

BENDING SCHEDULE AND REINFORCING BY OTHERS

100

80

241

10mm MILD STEEL BACKING PL
4 x M20 S/S NYLOC NUTS
WITH S/S WASHERS

4 x M20 S/S THREADED
RODS THRU CONCRETE

UNISPAN PANELS

EXISTING CONCRETE SLAB / UNISPAN
TOPPING TO BE CORE DRILLED TO SUIT
DAVIT BASE

NEW PLINTH (30mpa MIN) TO MOUNT DAVI
TOP OF PLINTH TO BE LEVEL AND UNDER
MEMBRANE OVERLAY

© Copyright PBI Height Safety Limited
Under Copyright® law, no part of this document
may be reproduced in any form, without prior
witten permission of PBI.

Rev Description By | Date

A | Frsissue

=

L |19112/2019

B | A00ED concReTE REFORONG | ML [13/01/2020

PBI Height Safety Limited

10 Holt Place, PO Box 30048,
Harewood, Harewood,
Christchurch 8063,  Christchurch 8454,
New Zealand New Zealand

Free Phone: 0800 357 003
P: 0800 357 0093

phiheightsafety.com

Project:
Description:
Project Number.
Client:

Drawing Number. Revision;

®

Drawn:
Checked

Date: Scale:

NTS@A3

pbiheightsafety.com

0800 357 003

PBI HEIGHT SAFETY LIMITED



PBI HEIGHT SAFETY

NEW ZEALAND OFFICES pbi

HEIGHT SAFETY

CHRISTCHURCH
10 Holt Place
Harewood
Christchurch 8053

AUCKLAND

D23 / 930 Great South Road
Penrose

Auckland 1061

info@pbiheightsafety.com

Auckland
PBI Height Safety

Palmerston North
PBI Height Safety

Wellington
PBI Height Safety

Christchurch
PBI Height Safety

TECHNICAL DRAWINGS KEY

€3 Rateto / pn % Person i\ apceil ¢ B 7 > Restraint
V 15kN In‘ Capacity Fall Arrest Technique

PBI HEIGHT SAFETY LIMITED 0800 357 003 pbiheightsafety.com



